U.T. ADMINISTRATION OF DAMAN & DIU.
DIRECTORATE OF EDUCATION
SAMAGRA SHIKSHA,
DAMAN
No. ADE/DP/DMN/STC-SSA/2018-19/ 2737 ¢, Date: 5" December, 2018.

Ref. :-Advertisement No. ADE/DP/DMN/STC-SSA/2018-19/1279 Dated 14" November, 2018
NOTICE

It is to inform to all the eligible candidates who Written Test for English
Language (for the post of Primary School Teacher (English Medium) under Samagra
Shiksha vide above referred advertisement), held on 5th December, 2018 from 11:30
AM. to 12:30 P.M. at GHSS — Moti Daman, Next to Secretariat, Fort, Moti Daman
that result of Written examination has been uploaded on official website i.e. on
www.daman.nic.in. Answer key for the same is also uploaded on aforesaid website.

» The candidates who have secured 20 or above marks have got qualified for
Interview directed In the last column of the aforesaid list,

> Interview will be held on 8™ December, 2018 (Saturday) in the chamber of

Secretary (Education), Secretariat, Moti Daman.

Interview will start from 10:00 A.M. 9n u6ds

Candidate shall report by 09:30 A.M. for verifications of original documents.

> Eligible candidate who are qualified for Interview should bring all the relevant
documents in original during the said interview.

» Candidate who will not bring all/any of the relevant document(s) in original on
the day of interview, will not be allowed to appear for interview.

> Appearing in interview does not mean that the candidate may get selected for
the said contractual post.

> Performance of the candidate does not found satisfactory (if any) during
interview may be rejected at once.

> It is to reiterate that candidate(s) belongs to OBC/SC/ST category of U.T. of
Daman and Diu and availing age relaxation or TET marks relaxation have to
produce valid Non Creamy Layer Status Certificate/Caste Certificate in
original on the day of Interview along with all the relevant original documents.

vV V

Encl. :- Copy of Answer Key and Result sheet

Sd [~
(Harshit Jain)

State Project Director
(Samagra Shiksha)

To:-
The SIO (NIC), Daman with the request to upload the above Notice with enclosure

of detailed list of Eligible and ineligible candidates on official website i.e. on
www.daman.nic.in.




U.T. ADMINISTRATION OF DAMAN & DIU.
DIRECTORATE OF EDUCATION

SAMAGRA SHIKSHA,
- DAMAN
Roll No. P‘“”fg’ft" Date:- 5 December, 2018. Time:-11:30 AM to 12:30 PM

Written Examination for English Language for 43 posts of Primary School
Teacher (English Medium) under Samagra Shiksha.
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(Signature of Candidate) (Signature of Invigilator)

I, What iS the plural form of ‘Mouse’?.

\/Aﬁ/ﬁce B. Rat C. Rats D. Moose

2 What is the plural form of ‘Child’?
A . Childs B. Kids \_C—Children  D. Childrens

3; Select the odd one of the following?

A . Fruits B. Vegetables C. Pulses B Tron

4. If Gujarat ::Ghandhinagar than Maharashtra :: ?

/
\_-A . Mumbai B. Thane C. Pune D. New Bombay
5. You should read this novel — it’s been recommended by all

the critics.

A ’/Highly B. Fully C. Truly D. Deeply
6. Things would go a lot more smoothly if you keep interrupting
A. do B. will e didn’t D. would
7. I must go home because my husband for me.

A . are waiting B. amwaiting C. waiting B s waiting




10.

11,

12.

13.

14.

Are these cats bigger than those dogs
A . Yes, are. LB Yes, they are bigger!
C. No, those dogs are the bigger. ~ D. No, Dogs are the biggest.
Which pen do you want?
A. AoneBlue B. OneBlue C. BlueOne | D.-The Blue One
Which amongst the following is not an English Language Vowels?
A. B B—H’ C. ‘A’ D. ‘U
To add fuel to the fire means ?
\/A/Fgr worsen matter B. To give money
C. to add something D. To fight with others
The cricket match proved to be a big draw.
A . akeen contest L/BG/huge attraction
C. alovely spectacles D. a game without any result
I felt like a fish out of water among all those business tycoons.
A . troubled B. stupid \/eﬁ:omfortable D. inferior
Spot the error.
A . IfT had known
B. this yesterday
€7 T will have helped him

" D. No error.



15.

16.

17.

18.

19.

20.

21.

Spot the error.

A . I am thinking of

\/ﬂ go to Agra

C. for my cousin’s marriage

D. No error.

Synonym of ‘Brief’
A . Limited B. Small C. Little

Synonym of ‘Distinction’

A . Diffusion B. Degree . € Different

Antonym of ‘Famous’

\_D—Short

D. Disagreement

A . Disgraced \}/ﬁnknown C. Evil D. Popular
Antonym of ‘Able’

A . Disable B. Inable  \_C- Unable D. Misable
My uncle decided to take and my sister to the market.

A.l B. Mine \/@./Me D. myself

Sujata was found to

A . contain B. disclose \./6./15/()sses

the required qualifications for the job.

D. acquire



22.  Arrange the parts of the sentence which are labelled s P, Q,Rand S in
order to produce the correct sentence.

People

P : at his dispensary
Q : went to him

R : of all professions

S : for medicine and treatment

The Pfoper sequence should be:

A. QPRS
B. RPQS

+_~€. RQSP
D. QRPS

23.  Arrange the parts of the sentence which are labelled s P, Q,Rand S in
order to produce the correct sentence.

It is very easy

P : a great deal more than one realises

Q : may mean

R : that a phrase that one does not quite understand

S : to persuade one self

The Proper sequence should be:
A. RSQP

\/B{PQR

C. SRQP
D. RQPS



24.  One who eats everything
L/A( Omnivorous B. Omniscient C. Irrestible D. Insolvent

25. That which cannot be seen

A . Insensible B. Intangible { CInvisible D. Unseen

26. Find the correctly spelt word

P

A . Pessenger \ BT ’Passenger C. Pasanger D. Pesanger

27. Find the correctly spelt word
A . Grief B. Breif Mecieve D. Diceive

28.  Find the wrongly spelt word

o

A . Furniture ﬁampel C. Medicine D. Sample

29. The sentence is broken into parts. Join these parts to make a meaningful
sentence. The correct order of parts is the answer.
1. do 2. today 3. you 4. must 5. it

\_A34152 B. 25413 C. 12543 D. 51324

30. The sentence is broken into parts. Join these parts to make a meaningful
sentence. The correct order of parts is the answer.

1. him 2. the 3. to 4. charge 5. handover
A. 51342 B. 41352 C. 45231 D—52431

31. Replace the phrase printed in bold type to make the sentence
grammatically correct.

The small child does whatever his father was done.

A . has done B. did %oes D. No correction required



32. Replace the phrase printed in bold type to make the sentence
grammatically correct.

He dislikes the word dislike, isn’t he

A . didn’t he \,B%‘esn’t he C. hasn’the D. No correction required

33. Replace the phrase printed in bold type to make the sentence
grammatically correct.

We were still standing in the queue when the film was beginning.
A . film began L-B. film had begun

C. film begins D. No correction required

34. Replace the phrase printed in italic and underlined type if any
improvement is needed in sentence. Choose the correct alternative. In casé no
improvement is needed, Option ‘D’ is the answer.

Will you kindly open the knot?
\Aﬁie B. break C. loose D.No improvement

35. Replace the phrase printed in italic and underlined type if any
improvement is needed in sentence. Choose the correct alternative. In case no
improvement is needed, Option ‘D’ is the answer.

I have lived in Delhi since I was four?

A . am living B. lived C. had lived ‘/D./No improvement

36. How may Noun(s) are there in the following sentence:-.

‘India is my Country’

A . one l/Bﬁ\;&/o C. three D. four



37. How many Noun(s) are there in the following sentence:-.

‘I go to school regularly’

k/A/ one B. two C. three D. four

38.  Unless you work harder you will fail, means......

A . if you fail you will work harder
B. you must atleast plan well than you will not fail
C. hardly you will fail if you do not desire so

B if you do not put more efforts, then you will fail

39. “You are thinking very highly about Ravi but he is not so”, means......

A . Ravi is as good as you think about him
_-B. You have a good opinion about Ravi but he is not as good as you think
C. Your view about Ravi is philosophical, keep it up

D. Ravi is much better, than what you think of him

40. From the given alternatives, choose the one which best expresses the
given sentence in Passive/Active voice.

Darjeeling grows tea

A . Teais being grown in Darjeeling
B. Let the tea be grown in Darjeeling
\_€ Teais grown in Darjeeling

D. Tea Grows in Darjeeling



41. From the given alternatives, choose the one which best expresses the
given sentence in Passive/Active voice.

They will inform the police.

t/A;/ ]{he police will be informed by them
B. The police will inform them
C. The police are informed by them

D. Informed will be the police by them

42.  Choose the one which best expresses the given sentence in Indirect/Direct Speech.
I told him that he was not working hard.
\Aﬁ said to him, “You are not working hard”
B. Itold to him, “You are not working hard”

C. Isaid, “You are not working hard”

D. I said to him, “He is not working hard”

43, is the District Magistrate of each district.

A . Administrator \B7 Collector C. Governor D. Deputy Collector

44. What is the full form of RTE:-

A . Right to Information B. Right to Enquiry

L C—Right to Education D. Regional Transport Agency



45.  Which of the following in not a part of the Samagra Shiksha :-
A . Sarva Shiksha Abhiyan (SSA)

B. Rashtriya Madhyamik Shiksha Abhiyan (RMSA)

C. ICT@School

P Mid Day Mead (MDM)

46 — 50 Read the following passage and answer the following question:-

What needs to be set right is our approach to work. It is a common sight
in our country of employees reporting for duty on time and at the same time
doing little work. If an assessment is made of time they spent in gossiping,
drinking tea, eating "pan" and smoking cigarettes, it will be shocking to know
that the time devoted to actual work is negligible. The problem is the standard
which the leadership in administration sets for the staff. Forgot the ministers
because they mix politics and administration. What do top bureaucrats do?
What do the below down officials do? The administration set up remains week
mainly because the employees do not have the right example to follow and they
are more concerned about being in the good books of the bosses than doing

work.
46.  The employees in our country :-
\_-A". are quite punctual but not duty conscious
B. are not punctual, but somehow manage to complete their work
C. are somewhat lazy but good natured

D. are not very highly qualified



47.  According to the writer, the administration in India :-

A . is by and large effective
B. is very strict and firm
C. is affected by red tape

\/D./ is more or less ineffective

48. The word ‘Assessment’ means :-

A . enquiry
B. report

€ evaluation

D. summary

49.  The leadership in administration :-

A . sets a fine example to the employees
B. is of a reasonable high standard

C. is composed of idealists

\/B./ isofa very poor standard

50.  The central idea of the passage could be best expressed by the following

A . The employee outlook towards work is justified
Mhe employee must change their outlook towards work
- C. The employees would never change their work culture

D. The employer-employee relationship is far from healthy



